<?Puml version="1.0" encoding="utf-8"?>
<hml xsi:schemalocation="http://schemas.nmdp.org/spec/hmlf1.0.1
http:/fschemas.nmdp.org/spec/hml/1.0.1/hmi-1.0.1.x5d" version="1.0.1" project-name="001"
wmilns:xsi="http:/fwww.w3.org/2001/XMLSchema-instance"
xmins="http://schemas.nmdp.org/spec/hml/1.0.1">
<hmlid root="744" extension="552501-2021-11-26" />
<repoarting-center reporting-center-id="001" />
<sample id="5am,ple ID 1" center-code="001">
<zcollection-method>Whaole Blood</collection-methods
<typing gene-family="KIR" date="2021-11-26">
<allele-assignment date="2021-11-26" allele-version="2.6.0" allele-db="IFPD/KIR">
<glstring>KIR2DL1*FAILED-RESULTAKIRZDL2*FAILED-RESULTAKIRZDLI*FAILED-
RESULTAKIRZDLA*FAILED-RESULT*KIRZDLS*FAILED-RESULTAKIR2DS51* FAILED-RESULTAKIRZDS52* FAILED-
RESULTAKIRZDS3*FAILED-RESULTAKIRZDSA* FAILED-RESULTAKIRZDS5" FAILED-RESULTAKIR3DLI* FAILED-
RESULTAKIRIDL2 *FAILED-RESULTAKIRIDL3I*FAILED-RESULTAKIR3DS1 *FAILED-RESULTAKIRZDP1 * FAILED-
RESULTAKIRZDP1*FAILED-RESULT</glstring>
</allele-assignment>
<typing-method=>
<sbt-ngs test-id-source="Histogenetics" test-id="MiSeq" locus="KIRZDL1" />
<sht-ngs test-id-source="Histogenetics" test-id="MiSeq" locus="KIR2DL2" />
<sbt-ngs test-id-source="Histogenetics" test-id="MiSeq” locus="KIR2DL3" />
<sht-ngs test-id-source="Histogenetics" test-id="MiSeq" locus="KIRZDL4" />
<sht-ngs test-id-source="Histogenetics" test-id="MiSeq" locus="KIRZDLS" />
<sbt-ngs test-id-source="Histogenetics" test-id="MiSeq" locus="KIR2D51" />
<sht-ngs test-id-source="Histogenetics" test-id="Mi5Seq” locus="KIRZDS2" />
<sht-ngs test-id-source="Histogenetics" test-id="MiSeq" locus="KIR2DS53" />
<sbt-ngs test-id-source="Histogenetics" test-id="MiSeq" locus="KIR2D54" />
<sht-ngs test-id-source="Histogenetics" test-id="MiSeq" locus="KIRZDS55" /=
<sbt-ngs test-id-source="Histogenetics" test-id="MiSeq" locus="KIR3DL1" />
<sbt-ngs test-id-source="Histogenetics" test-id="MiSeq" locus="KIR3IDLZ" />
<sbt-ngs test-id-source="Histogenetics" test-id="MiSeq" locus="KIR3DL3" />
<sbt-ngs test-id-source="Histogenetics" test-id="MiSeq” locus="KIR3DS51" />
<sbt-ngs test-id-source="Histogenetics" test-id="MiSeq" locus="KIR2DP1" />
«sbt-ngs test-id-source="Histogenetics" test-id="MiSeq" locus="KIR3DP1" />
<(typing-method>
</typing>
<fsample>
</hmi>



